




EXAMPLE A:  
HIGH ACTIVITY SITE  

WITH LOTS OF TREES

EXAMPLE B:  
MODERATE ACTIVITY SITE 

WITH SOME TREES

EXAMPLE C:  
LIGHT ACTIVITY SITE  

WITH FEW TREES

Installs Per Month 10 5 3

Successful Installs 6 4 3

Unsuccessful Installs 4 1 0

Time Reduction on  
Successful Install 30 minutes 30 minutes 30 minutes

Time Reduction Avoiding 
Failed Dispatch 2 hours 2 hours 2 hours

Cost Per Hour for Installation $50 $50 $50

TIME AND MONEY SAVED

Time Saved Per Month (6 * 30 minutes) +  
(4 * 2 hours) = 11 hours

 (4 * 30 minutes) +  
(1 * 2 hours) = 4 hours

(3 * 30 minutes) +  
(0 * 2 hours) = 1.5 hours

Money Saved Per Month 11 * $50 = $550 4 * $50 = $200 1.5 * $50 = $75

Money Saved Over One Year $19,800 $7,200 $2,700


